
 

 

 

ID Field Indicator metadata 

0 Fund relevance ERDF 

1 Indicator code RCR19 

2 Indicator name Enterprises with higher turnover 

2b Indicator code and   short name 

(open data name) 

RCR19 Firms: Enterprises with higher turnover 

3 Measurement unit enterprises 

4 Type of indicator result 

5 Baseline 0 

6 Milestone 2024 not required 

7 Target 2029 >0 

8 Policy objective Use in all policy objectives, whenever relevant 

9 Specific objective Use in all specific objectives, whenever relevant 

10 Definition and   concepts Number of enterprises supported to sustain or achieve turnover growth. 

The indicator counts enterprises for which the annual turnover for the 

fiscal year after the year of completion of output is at least as high as 

the annual turnover growth in the year before the project started. For 

enterprises with no or negative turnover growth before the project 

started, the turnover growth rate during the fiscal year after the year of 

output completion should be at least 2%. 

The enterprise turnover comprises the totals invoiced by the enterprise 

during the reference period (one year) and it corresponds to market 

sales of goods and services supplied to third parties (ESTAT2007 in 

references). 

11 Data collection Supported projects, public registries 

12 Time measurement achieved End of fiscal year following the year when output is completed. 

13 Aggregation issues Rule 1: Double counting removed at the level of the specific objective 

An enterprise is counted once regardless how many times it receives 

support from operations in the same specific objective. 

14 Reporting Rule 1: Reporting by specific objective 

Forecast for selected projects and achieved values, both cumulative to 

date  (CPR Annex VII, Table 3). 

15 References ESTAT2007 - Eurostat-OECD Manual on Business Demography 

Statistics, 2017 edition 

16 Corresponding corporate 

indicator 

 

17 Notes The indicator is to be used when the objective of the intervention is to 

sustain or achieve higher turnover growth. 

The 2% threshold corresponds to the ECB target for the inflation rate. 

18 Note IT La definizione del campo 10 è sostituita da: Numero di imprese 

sostenute per sostenere o raggiungere la crescita del fatturato. Tale 

indicatore va selezionato solo quando il sostegno mira esplicitamente a 

produrre un incremento di fatturato delle imprese sostenute.   

 (Fonte: REGIO register of Q+A on 2021-2027 Intervention Logic - 

Indicators – Performance, aggiornamento del dicembre 2021). 


